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QUESTION 1

What are two valid Mist subscription status states in the Mist GUI? (Choose two.) 

A. Expired 

B. Perpetual 

C. Staged 

D. Exceeded 

Correct Answer: AD 

Reference: https://www.mist.com/documentation/subscriptions-and-activations/ 

 

QUESTION 2

Which two methods are supported for configuring a Mist environment? (Choose two.) 

A. Use the API. 

B. Use the GUI. 

C. Use the CLI. 

D. Use NETCONF. 

Correct Answer: AB 

Reference: https://www.juniper.net/documentation/us/en/software/nce/nce-214-midsize-branch-mist-pwp/topics/topic-
map/nce-214-midsize-branch-mist-example.html 

 

QUESTION 3

What are two requirements to successfully provision a Juniper EX Series switch into Mist? (Choose two.) 

A. outbound TCP 2200 access 

B. Internet connectivity 

C. static IP 

D. inbound TCP 443 access 

Correct Answer: AB 

 

 

Latest JN0-252 Dumps | JN0-252 PDF Dumps | JN0-252 VCE Dumps                                2 / 3

https://www.geekcert.com/jn0-252.html
https://www.geekcert.com/jn0-252.html
https://www.geekcert.com/jn0-252.html


https://www.geekcert.com/jn0-252.html
2024 Latest geekcert JN0-252 PDF and VCE dumps Download

QUESTION 4

Which social network account is allowed to be linked to the MIST account? 

A. Facebook account 

B. Google account 

C. Instagram account 

D. Snapchat account 

Correct Answer: B 

 

 

QUESTION 5

The status of user authentication will affect which pair of SLEs? 

A. Successful Connects and Time to Connect 

B. Coverage and Roaming 

C. Capacity and Successful Connects 

D. Time to Connect and Throughput 

Correct Answer: A 
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